
G2(3).2 (mod 2)

blocks defect matrix

G : 1 7 21× 6
2 1 2× 1

3 = 2 1 2× 1
4 0 8961 = χ15+, ϕ10+

5 1 2× 1

3.G : 6 6 10× 3
7 0 34561 = χ34+, ϕ16+

Block 1: ϕ1,0 ϕ2,0 ϕ5,0 ϕ6,0 ϕ7+ ϕ9,0

11 = χ1,0 1 . . . . .
12 = χ1,1 1 . . . . .

141 = χ2,0 . 1 . . . .
142 = χ2,1 . 1 . . . .
781 = χ5,0 . . 1 . . .
782 = χ5,1 . . 1 . . .
911 = χ6,0 1 . . 1 . .
912 = χ6,1 1 . . 1 . .
1821 = χ7+ 2 . . . 1 .
1041 = χ9,0 . 1 . 1 . .
1042 = χ9,1 . 1 . 1 . .
1681 = χ10,0 . . 1 1 . .
1682 = χ10,1 . . 1 1 . .
3641 = χ11+ . 2 2 . 1 .
5461 = χ13+ 2 2 2 2 1 .
10921 = χ17+ . . 2 . 1 2
14561 = χ19+ . 2 4 . 2 2
7291 = χ21,0 1 1 2 . 1 1
7292 = χ21,1 1 1 2 . 1 1
8191 = χ22,0 1 1 2 1 1 1
8192 = χ22,1 1 1 2 1 1 1

ϕ1,0 = 11
ϕ2,0 = 141
ϕ5,0 = 781
ϕ6,0 = 901
ϕ7+ = 1801
ϕ9,0 = 3781

Block 2: ϕ3,0

641 = χ3,0 1
642 = χ3,1 1

ϕ3,0 = 641



Block 3: ϕ4,0

643 = χ4,0 1
644 = χ4,1 1

ϕ4,0 = 642

Block 5: ϕ12,0

8321 = χ23,0 1
8322 = χ23,1 1

ϕ12,0 = 8321

Block 6: ϕ13+ ϕ14+ ϕ15+

541 = χ24+ 1 . .
542 = χ25+ 1 . .
3781 = χ26+ 1 . 1
3782 = χ27+ 1 1 .
7021 = χ28+ 1 1 1
7022 = χ29+ 1 1 1
7023 = χ30+ 1 1 1
7561 = χ31+ 2 1 1
7562 = χ32+ 2 1 1

14581 = χ33+ 3 2 2

ϕ13+ = 541
ϕ14+ = 3241
ϕ15+ = 3242


